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1.	
  Conjugue	
  el	
  verbo	
  entre	
  paréntesis	
  en	
  presente	
  de	
  indicativo:	
  	
   	
   	
   	
   	
   _____/5	
  

El	
   11%	
   de	
   todas	
   las	
   pequeñas	
   y	
   medianas	
   empresas	
   (pymes)	
   del	
   mundo	
   ____________________	
   (encontrarse)	
   en	
  

Latinoamérica.	
  Las	
  grandes	
  empresas	
  sólo	
  ____________________	
  (constituir)	
  un	
  10%	
  de	
  las	
  empresas	
  en	
  esta	
  región	
  

y	
   por	
   tanto	
   las	
   pymes	
   ___________________	
   (generar)	
   un	
   90%	
   de	
   los	
   puestos	
   de	
   trabajo.	
   Los	
  

latinoamericanos________________	
   (creer)	
   e	
   ____________________	
   (invertir)	
   mucho	
   en	
   estas	
   empresas	
   y	
   en	
   su	
  

futuro.	
  

	
  

2.	
  Complete	
  el	
  siguiente	
  texto	
  con	
  SER,	
  ESTAR,	
  HAY,	
  TENER:	
  	
   	
   	
   	
   	
   	
   _____/4	
  

______________	
  muchas	
   personas	
   en	
   el	
  mundo	
   que	
   consideran	
   que	
   actualmente	
   Brasil	
   ______________	
   el	
  mayor	
  

potencial	
   de	
   crecimiento	
   económico	
   en	
   el	
  mundo.	
  No	
   todos	
   ________________	
   de	
   acuerdo,	
   pero	
   ______________	
  

verdad	
  que	
  el	
  desarrollo	
  de	
  Brasil	
  en	
  los	
  últimos	
  años	
  ha	
  sido	
  sorprendente.	
  	
  

	
  

3.	
  Complete	
  las	
  frases	
  con	
  el	
  posesivo	
  adecuado:	
   	
   	
   	
   	
   	
   	
   _____/2,5	
  

1.	
  El	
  director	
  nos	
  ha	
  convocado	
  para	
  una	
  reunión	
  en	
  _____________	
  (de	
  él)	
  oficina.	
  

2.	
  Las	
  colegas	
  españolas	
  dicen	
  que	
  estas	
  maletas	
  no	
  son	
  ______________	
  (de	
  ellas).	
  

3.	
  Perdona,	
  Juan,	
  ¿dónde	
  están	
  ______________	
  (de	
  ti)	
  documentos?	
  Estos	
  son	
  los	
  ____________	
  (de	
  mí).	
  

4.	
  ¿A	
  qué	
  hora	
  llegan	
  _______________	
  (de	
  vosotros)	
  amigos?	
  	
  

	
  

4.	
  Conjugue	
  los	
  verbos	
  entre	
  paréntesis	
  en	
  el	
  tiempo	
  del	
  pasado	
  adecuado	
  	
   	
   	
   	
   _____/5	
  

La	
   semana	
   pasada	
   ___________________	
   (tener,	
   nosotros)	
   una	
   reunión	
   con	
   un	
   cliente	
   de	
   Madrid.	
  

___________________	
   (ser)	
   una	
   cosa	
   increíble.	
   Antes	
   de	
   que	
   llegara	
   el	
   cliente,	
   mis	
   colegas	
   ya	
  

______________________	
   (ponerse)	
   tan	
   nerviosos	
   que	
   yo	
   _________________	
   (temer)	
   lo	
   peor.	
   De	
   hecho,	
   cuando	
  

finalmente	
   _____________________	
   (hacer,	
   nosotros)	
   la	
   presentación	
   todo	
   salió	
   mal	
   y	
   el	
   cliente	
   se	
   marchó	
   muy	
  

enfadado.	
  

	
  

	
  

	
  

	
  



5.	
   Complete	
   poniendo	
   el	
   verbo	
   entre	
   paréntesis	
   en	
   imperativo,	
   sustituyendo	
   los	
   complementos	
   directo	
   e	
  

indirectos	
  subrayados	
  con	
  los	
  pronombres	
  correspondientes	
  	
   	
   	
   	
   	
   _____/5	
  

a)	
  Sra.	
  Gómez,	
  (llevar)	
  los	
  documentos	
  al	
  director,	
  por	
  favor	
  ______________________________________	
  

b)	
  Paco,	
  (pasar)	
  a	
  mí	
  ese	
  bolígrafo,	
  gracias.	
   _______________________________________________	
  

c)	
  Señores,	
  no	
  (preocuparse)	
  por	
  nada.	
   	
   _______________________________________________	
  

d)	
  No	
  (tocar,	
  tú)	
  ese	
  cuadro!	
   	
   	
   _______________________________________________	
  

e)	
  Niños	
  (ducharse,	
  vosotros)	
  antes	
  de	
  salir.	
  	
   _______________________________________________	
  

	
  

	
  
Lea	
  el	
  siguiente	
  texto	
  con	
  atención:	
  

	
  
La	
  crisis	
  destruyó	
  más	
  de	
  2.000	
  empleos	
  al	
  día	
  a	
  lo	
  largo	
  de	
  2012	
  

	
  
España	
  ha	
  cerrado	
  su	
  quinto	
  año	
  consecutivo	
  destruyendo	
  empleo.	
  En	
  2012,	
  la	
  crisis	
  abrió	
  un	
  nuevo	
  acto.	
  Volvió	
  
la	
  recesión,	
  pero	
  esta	
  ocasión	
  va	
  acompañada	
  de	
  austeridad	
  y	
  recortes.	
  Así	
  que	
  la	
  Administración	
  se	
  ha	
  sumado	
  a	
  
las	
   empresas	
  privadas,	
   y	
   ahora	
   ambos	
   sectores	
   al	
   unísono	
  han	
  eliminado	
  puestos	
  de	
   trabajo.	
   La	
   traducción	
  de	
  
estos	
   hechos	
   en	
   cifras	
   es	
   desoladora:	
   en	
   12	
   meses	
   la	
   Seguridad	
   Social	
   cuenta	
   787.240	
   afiliados	
   menos	
   y	
   las	
  
oficinas	
  de	
  empleo	
  registran	
  426.324	
  parados	
  más,	
  según	
  los	
  datos	
  del	
  Ministerio	
  de	
  Empleo.	
  
Para	
  taponar	
   la	
  hemorragia	
  el	
  Gobierno	
  aprobó	
  urgentemente,	
  apenas	
  mes	
  y	
  medio	
  después	
  de	
   llegar	
  al	
  poder	
  
Mariano	
  Rajoy,	
  la	
  reforma	
  laboral.	
  No	
  lo	
  ha	
  logrado.	
  Persiste	
  el	
  Gobierno	
  en	
  decir	
  que	
  sin	
  la	
  reforma	
  la	
  situación	
  
sería	
  más	
  grave,	
  pero	
  eso	
  es	
  una	
  "hipótesis"	
  difícil	
  de	
  probar.	
  
La	
  situación	
  podría	
  ser	
  peor.	
  Perdón	
  por	
  el	
  tópico,	
  pero	
  es	
  así.	
  El	
  mes	
  pasado	
  supuso	
  un	
  cierto	
  alivio.	
  Al	
  menos	
  
aparente.	
  La	
  campaña	
  de	
  Navidad	
  redujo	
  el	
  desempleo	
  en	
  59.094	
  personas.	
  Ha	
  sido	
  el	
  mejor	
  diciembre	
  de	
  la	
  serie	
  
estadística	
  de	
  paro	
   registrado,	
   como	
   se	
   encargó	
  de	
   recordar	
   el	
  Ministerio	
   de	
   Empleo.	
   Pero	
  una	
   vez	
   enunciado	
  
este	
  dato,	
  casi	
  se	
  acaban	
  las	
  buenas	
  noticias.	
  La	
  Seguridad	
  Social	
  descontó	
  otro	
  88.367	
  afiliados.	
  
El	
   deterioro	
   continuo	
   y	
   prolongado	
   del	
   mercado	
   laboral	
   ha	
   introducido	
   la	
   Seguridad	
   Social	
   en	
   una	
   peligrosa	
  
dinámica:	
  el	
  número	
  de	
  cotizantes	
  por	
  cada	
  uno	
  de	
  los	
  perceptores	
  de	
  pensiones	
  ha	
  bajado	
  de	
  dos.	
  Es	
  decir,	
  que	
  
hay	
  menos	
  de	
  dos	
  trabajadores	
  pagando	
  a	
  la	
  Seguridad	
  Social	
  por	
  cada	
  persona	
  que	
  cobra	
  una	
  jubilación.	
  	
  
	
  
	
  
Señale	
  si	
  las	
  siguientes	
  afirmaciones	
  son	
  verdaderas	
  (V)	
  o	
  falsas	
  (F):	
  	
  	
  	
  _____/2,5	
  
	
  
	
   V	
   F	
  
En	
  los	
  últimos	
  12	
  meses	
  han	
  aumentado	
  tanto	
  los	
  afiliados	
  a	
  la	
  Seguridad	
  Social	
  como	
  
los	
  desempleados.	
  

	
   	
  

Durante	
  la	
  época	
  navideña	
  hubo	
  un	
  ligero	
  aumento	
  de	
  empleo.	
  	
   	
   	
  
La	
  reforma	
  laboral	
  del	
  gobierno	
  Rajoy	
  no	
  ha	
  logrado	
  solucionar	
  el	
  problema.	
   	
   	
  
Hay	
  una	
  peligrosa	
  proporción	
  entre	
  las	
  pocas	
  personas	
  que	
  pagan	
  la	
  Seguridad	
  Social	
  y	
  
las	
  muchas	
  que	
  cobran	
  una	
  jublicación.	
  

	
   	
  

Hay	
  muchas	
  buenas	
  noticias	
  para	
  España.	
  La	
  crisis	
  se	
  está	
  acabando.	
   	
   	
  
	
  

Traduzca	
  las	
  siguientes	
  frases	
  al	
  español:	
  _____/6	
  

1) Questa	
  settimana	
  sono	
  andata	
  in	
  biblioteca	
  tre	
  volte.	
  Domani	
  prenderò	
  l’autobus.	
  

	
  

2) Giovedì	
  scorso	
  ho	
  parlato	
  con	
  Giovanni.	
  È	
  appena	
  tornato	
  dalla	
  Spagna.	
  

	
  

3) Vado	
  in	
  ufficio	
  per	
  lavorare.	
  Torno	
  alle	
  20.	
  

	
  


